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COMPREHENSIVE REVISION TEST(UNITTEST) SERIES-2023

TEST No, 8
;{HU; MATHEMATICS - UNIT 1 Time : 45 mts
: | Chapters : 1. Arithmetic Sequence 2. Circles | Total Score : 20

[nustructions :
 Read the instructions carefully and answer the questions
e Calculations, figures should be shown in the answersheet itself.

Answer any THREE questions from | to 5. Each question carries 2 scores, (3 x 2 = 6)
__1\/{ 8, 11, 14, ... is an arithmetic sequence.
a) Write its algebra.
b) Check whether 121 is a term of this sequence?
.\}( The vertices of a regular pentagon ABCDE are points on a circle.
a) Howmuchis # BAC?
b) What is the measure of / P?
3. Thesumoffirst 9 terms of an arithmetic sequence is 135.
a) Find s fifth term.
b) What is the sum of the 4" and 6™ terms?
1}./ ABCD is a cylic quadrilateral. If we draw a circle with BD as the diameter,
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a) What is the position of A? Given £ A= 135" 134 '

b) If £ A =90° what is the position of C?

s/ The alegebra of sum to *n’ terms of an arithmetic sequence is Sn= 3n° + 5n.
a) Write its first term and its common difference. '
b) Write the algebraic form of the sequence.

Answer any TWO questions from 6 to 8. Each question carries 3 scores.

,\,6./ In the figure QS = RS, £ SQR = 35% and the point 'O denotes the ccntrlg of the aircle.
a) Find the measure of £ QSR
b) Find the measure of £ QPR
¢) What about £ TQR?

(2x3=6)




X The 5™ term of an arithmetic squence is 30 and the 20™ term is 75.
a) What is its common dilference?
b) Find its first term.
~ ¢) What number should be added to the first term to get the 31 term?
V&/ Draw a square of area 1 5em’,
Answer any TWQO questions from 9 to 11. Each question carries 4 scores. (2x4-

F

LY a) Whatis the 25" term of the arithmetic sequence 1, 3, 5, ......
b)Find 1 +3 45+ .o, + 49, |

C)Find3+9+ 15+ ............. + 147.
d)Find6+ 12+ 18+ ....... + 153.

10. _Inthe figure, the diameter AB is parallel to CD. Give reason for the following.
a) £ ADB = 90" B, il B

b)ZACD= £ ABD D, s .
c)£LBAC= £ ACD B. cauvsansinisanssssa SRR

d)LBAC+BAD=1804 d. ............. sl A B
- Examine the number pattern given.
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a) Write the next line

b) How many numbers are (here in the 10" line?
ﬂlwhﬂistheﬁmmdlm number of the 10" line?
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